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Note: Answers may be written either in English or
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in Hindi; but the same medium should be
used throughout the paper.
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Attempt all questions.
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(@) Distinguish between Human Resource
Management and Human Resource
Development. What competencies are
required to be a successful human resource
manager ? 4+4=8

(b) Distinguish between job analysis and job
description. What steps are involved in the
preparation of job analysis ? 3+4=7
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(a) Explain the role of tests and interview in the
process of employee selection. 4+4=8

{b) In what ways is Human Resource
Management important for the success of
an organisation ? 7
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2. (a) What is Training ? What is its benefit for
(i) employees and (ii) employers 72 +3+3=8

(b) Is recruitment the same thing as selection ?
Give reasons. Describe any four sources of
recruitment of managerial employees. 3+4 =7
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(a) What 1s management development ?
Describe  any  four technigues of
management development. 2+6=8
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(b) What steps should be taken by an enterprise
to design an appropriate training
programme for its employees ? 7
() vey-Toepre & e ¥ 7 wer-forar 9 et
<R wfafirdt 1 qoi Sifag |
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3. {(a) What is the difference between transfer and
promotion ? Is transfer only a tool of
punishment ? Give reasons. 4+4=8

(b) Clanfy the meaning of the terms ‘wages’
and ‘salary’. What is the utility of adopting
performance — linked compensation in a
business enterprise ? 3+4=7
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{a) What is Performance Appraisal ? How it is
different from Job Evaluation ? What are
the benefits of performance appraisal ?

2+2+4=8

1680 4



(b) What do you understand by Fringe Benefits ?
What types of fringe benefits can a
company provide for its employees ? 2+5=7
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4. (a) Distinguish between Employee Health and
Safety. Explain any four provisions made in
the Factories Act, 1948 for the health of the
workers, 4+4=8

(b) What does the concept of Social Security
imply ? What is its significance in the
context of Indian conditions ? 3+4=7
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(a) Why is Employee Welfare important ?
Explain various kinds of welfare activities
that are usually undertaken by employers
for the benefit of workers. 3+5=8

(b) What is Human Resource Information
System ? What are its objectives ? 2+5=7
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5. Write notes on any three of the following :
3x5=15
(a) Human Resource Policies
(b) Voluntary Retirement Scheme
(¢} Employee Counselling
(d) Employee Empowerment

() Induction Process
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